Addition

Name: Add numbers up to 50 to humbers up to 100.
Working Mathematically
12 + 46 = :
girls | boys
year 1 28 39
26 + B0 = year 2 58 46
year 3 44 46
21 + 46 = _____ How many children in year 32 __
26 + 43 = _ 2) There are 32 marbles @
in one bag and 47 in @
44 + 49 = another bag. @
14 + B0 = How many marbles altogether?
48 + 42 = 3) We counted 59 butterflies
- in the playground on Monday ;
VA
29 + 44 - and 27 on Tuesday.
43 + 43 = How many butterflies did we see
over the two days?
16 + 43 =
4) We planted 26 plants in one
19 + 47 = garden bed and 68 in another.
36 + 40 = —
5 +45 = ____
How many plants did we plant
47 + 43 = altogether?
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